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A¨Tº¢y]  / ACCOUNTANCY

( ospLtU, CUYæ}xV nLxLÍqeU / Malayalam & English Version)

yopkq]i] : 2.30 oe]¨P¡ ] [ kqoLvi] oL¡ V̈V  : 90

Time Allowed : 2.30 Hours ] [ Maximum Marks : 90

j]¡SÇw°¥ : (1) S\Lh|¨asLô]Rs A\ÿa]pORa YOej]svLqU kq]SwLi]¨OW.
IRÍË]sOU SkLqLpÜWtORºË]¤ zL¥ yPÕ¡RRvyRr yo}k]¨OW.

(2) IuOfOvLjOU Aa]vqp]aOvLjOU WrOSÕL j}sSpL j]r¾]sOç
ox]oLNfU DkSpLY]¨OW . \]Nf°¥ vqàOvL¢ Rk¢y]¤
DkSpLY]¨LU.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Register Number

Rr^]ð¡ jUm¡
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v]nLYU & I / PART - I

WOr]ÕV : (i) IsæL SÞLh|°¥¨OU D¾qRouOfeU 20x1=20

(ii) fÐ]q]¨OÐ D¾q°t]¤j]ÐV JãvOU SpL^]\ÿ D¾qU f]qR´aO¾VV
D¾qvOU KLkVVx¢ SWLcOU IuOfOW.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given alternatives and write

the option code and the corresponding answer.

1. k]¢vs]Þÿ fOWWtORa ks]w WOràOÐfV :

(a) RÞsvV A/c (b) vqOoLj A/c (c) oPsij A/c

Interest on drawings is deducted from :

(a) Expense A/c (b) Income A/c (c) Capital A/c
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2. oO¢WPŸ] y~}Wq]¨OÐ vqOoLjU mLs¢yV x}ã]R£ __________ vw¾V WLe]¨OU.

(a) WaU (b) mLi|fW¥ (c) y~¾O¨¥

Income received in advance will be shown on the __________ side of the Balance Sheet.

(a) Credit (b) Liabilities (c) Assets

3. NWc]ãV v]s×j sn]¨OÐfV :

(a) RoL¾ NWc]SãuVy]R£ A¨Tº]¤ j]ÐOU

(b) m]sæV y~}Wq]¨OÐ A¨Tº]¤ j]ÐOU

(c) RoL¾ RcmVSãuVy]R£ A¨Tº]¤ j]ÐOU

Credit sale is obtained from :

(a) Total Creditors Account

(b) Bills Receivable Account

(c) Total Debtors Account

4. DaoòR£ mLi|f ` 85,000, ApLtORa oPsijU ` 15,000, ApLtORa y~¾V
_________.

(a) ` 90,000 (b) ` 1,00,000 (c) ` 70,000

Proprietor’s Liability ` 85,000, His Capital ` 15,000 and his Assets _________.

(a) ` 90,000 (b) ` 1,00,000 (c) ` 70,000
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5. SÞqOUka] SÞ¡¨OW :

(1) Nkv¡¾j sLnU (i) nqe RÞsvOW¥, v]s×j RÞsvOW¥

(2) Þq¨Ov]ã v]s (ii) v]s×j f]q]ÞÿavV WOr\ÿ RoL¾
v]s×jW¥

(3) Nkv¡¾j RÞsvOW¥ (iii) RoL¾(SNYLôV) sLnU WOr\ÿ v]s×jW¥

(4) RoL¾(RjãV) v]s×jW¥ (iv) Nkv¡¾j RÞsvOW¥ WOr\ÿ
RoL¾(SNYLôV) sLnU

(a) (1) - (i) (2) - (ii) (3) - (iv) (4) - (iii)

(b) (1) - (ii) (2) - (i) (3) - (iv) (4) - (iii)

(c) (1) - (iv) (2) - (iii) (3) - (i) (4) - (ii)

Match the following :

(1) Operating Profit (i) Administrative Expenses,
Selling Expenses.

(2) Cost of goods sold (ii) Total Sales less Sales Returns

(3) Operating Expenses (iii) Sales less Gross Profit

(4) Net Sales (iv) Gross Profit less Operating
Expenses

(a) (1) - (i) (2) - (ii) (3) - (iv) (4) - (iii)

(b) (1) - (ii) (2) - (i) (3) - (iv) (4) - (iii)

(c) (1) - (iv) (2) - (iii) (3) - (i) (4) - (ii)
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6. WOrpOÐ mLs¢yV q}f]p]¤, SfpVoLjU :

(a) IsæL v¡xvOU ò]qoLp] j]¤¨OÐO

(b) IsæL v¡xvOU WOrpOÐO

(c) IsæL v¡xvOU WPaOÐO

Under Reducing Balance Method, Depreciation :

(a) Remains constant every year

(b) Decreases every year

(c) Increases every year

7. Bh| oPÐV v¡xS¾ V̈V ` 10,000 ¾]jV 10% vL¡x]W ks]w j]q¨]¤ Sj¡SqXL
q}f]p]¤ sn|oLWOÐ SfpVoLj¾]R£ BRW fOWpLp]q]¨OU :

(a) ` 3,200 (b) `  2,710 (c) ` 3,000

Total amount of depreciation provided on the Straight Line method at the rate of
10% p.a. on ` 10,000 for first three years will be :

(a) ` 3,200 (b) `  2,710 (c) ` 3,000

8. IsæL Nkv¡¾j j]q¨OWtOU NkWa]Õ]¨OÐ khoLeV :

(a) yop°¥ (b) AjOkLfU (c) wfoLjU

All activity ratios are expressed in terms of :

(a) Times (b) Proportion (c) Percentage

9. ke v]s×jW¥ ` 1,75,000, NWc]ãV v]s×jW¥ ` 2,25,000, IË]¤ BRW v]s×j :

(a) ` 5,00,000 (b) ` 4,00,000 (c) ` 50,000

Cash sales is  ` 1,75,000.  Credit sales is ` 2,25,000 then Total sales will be :

(a) ` 5,00,000 (b) ` 4,00,000 (c) ` 50,000
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10. WaÕNf°tORa WaUv}Ÿ¤ __________ jV KqO DhLzqeoLeV.

(a) keqy}fOW¥

(b) ke AavOW¥

(c) CvRpLÐOosæ

Redemption of debentures is an example for __________.

(a) Cash Receipts

(b) Cash Payments

(c) None of the above

11. RykVãUmr]Rs ke¾]R£ KLÕe]‚V mLs¢yV ` 1,50,00,000 BeV. B oLyR¾
RoL¾ qy}fOW¥  ` 3,00,00,000 DU RoL¾U AaÞÿ fOW ` 3,25,00,000 DU BeV.
KSW›Lmr]Rs ke¾]R£ KLÕe]‚V mLs¢yV __________ Bp]q]¨OU.

(a) ` 1,25,00,000 (b) ` 1,50,00,000

(c) ` 1,45,00,000 (d) ` 1,05,00,000

The opening balance of cash in September is ` 1,50,00,000.  Total receipts for the month
are ` 3,00,00,000 and total payment amounted to ` 3,25,00,000.  Opening balance of
cash in October will be :

(a) ` 1,25,00,000 (b) ` 1,50,00,000

(c) ` 1,45,00,000 (d) ` 1,05,00,000

12. kËLt]¾¾]¤, k]¢vs]\ÿ fOWWtORa ks]w We¨L¨OÐfV __________
q}f]p]sLeV.

(a) wqLwq] sLn q}f]

(b) wqLwq] WLs q}f]

(c) DÐf sLn q}f]

In partnership, Interest on drawings is calculated by __________ method.

(a) Average Profit method

(b) Average Period Method

(c) Super Profit Method
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13. kËLt]¾ òLkj¾]¤ JãvOU WOr´ AUY°tORa I¹U __________ BeV.

(a) JuV (b) KÐV (c) qºV

The minimum number of persons in a partnership firm is __________.

(a) Seven (b) One (c) Two

14. YOcVv]¤ KqO __________ y~¾LeV.

(a) j]sv]sOç (b) kSqLƒoLp (c) Nkf|ƒoLp

Goodwill is a/an __________ Asset.

(a) Current (b) Intangible (c) Tangible

15. KqO kËLt]Rp SÞ¡¨OSÒL¥ YOcVv]¤ A¨TºV Dp¡¾L¢ CfV Rcm]ãV R\áOU:

(a) YOcVv]¤ A¨TºV

(b) kËLt]WtORa oPsij A¨TºV

(c) kOj¡oPs|j]¡¹p A¨TºV

On admission of a partner if goodwill account is to be raised this should be debited to :

(a) Goodwill Account

(b) Partners’ Capital Account

(c) Revaluation Account

16. __________ j]q¨V We¨L¢ kOf]psLn v}f j]q¨OU kupsLn v}f j]q¨OU
fÚ]sOç v|f|LyU IaO¨OÐO :

(a) f|LY (b) sLn (c) oPsijU

__________ ratio is calculated by taking out the difference between new profit sharing
ratio and old profit sharing ratio.

(a) Sacrifice (b) Gaining (c) Capital
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17. mLi|fpORa oPs|U WOr´L¤, __________ DºLWOÐO.

(a) sLnjìU (b) jìU (c) sLnU

Decreasing the value of liability, it results in __________ item.

(a) Profit and Loss (b) Loss (c) Profit

18. kŸ]W A AjOyq]ÞÿV, WOa]ê]Wp]sOç v]t]pORa ks]w RWLaO¨OÐfV __________
BeV.

(a) 6% (b) 4% (c) 5%

According to Table A, interest charged on calls in arrears is __________.

(a) 6% (b) 4% (c) 5%

19. KqO RkLfO kOrRÕaOv]¨¤ _________ h]vy¾]¤ WPaOf¤ fOrÐO vpV̈ Lr]sæ.

(a) 5 (b) 10 (c) 3

A public issue cannot be kept open for more than _________ days.

(a) 5 (b) 10 (c) 3

20. SjLo]j¤ oPsijU IÐfV WÒj]pORa __________ ¤ krpOÐ oPsijoLeV.

(a) RoSÚLrLºU KLlV ASôLy]Spx¢

(b) SNkLRy×W›yV

(c) B¡Ÿ]¨]¥ KLlV ASôLy]Spx¢

Nominal Capital is the capital mentioned in the __________ of the company.

(a) Memorandum of Association

(b) Prospectus

(c) Articles of Association
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v]nLYU & II/PART - II

SÞLh|U 30 j]¡mÌoLpOU D¥RÕaO¾] JRfË]sOU JuV SÞLh|°¥¨V
D¾qRouOfOW.

Answer any seven questions in which question no. 30 is compulsory.

21. ‘A’ pOU ‘B’ pOU kËLt]WtLeV. ‘C’ Rp¨Pa] òLkj¾]Ss¨V SÞ¡¨L¢ Av¡
f}qOoLj]ÞÿO. ‘C’ keoLp] ` 1,00,000 pOU Þq¨Lp] ` 50,000 pOU RWLºOvÐO. ‘C’
RWLºOvÐ ke¾]R£pOU Þq¨]R£pOU S^e¤ I¢Na] j¤WOW.

‘A’ and ‘B’ are partners.  They decided to admit ‘C’ into the firm. ‘C’ brings cash
` 1,00,000 and stock ` 50,000.  Give journal entries for the cash and stock brought  in
by ‘C’.

22. ‘nqej]¡vze NkLkÅ]’ IÐ ZaWU òLkj¾]R£ YOcVv]sæ]Rj I°Rj
Dp¡¾OU ?

How does the factor, ‘Efficiency of Management’ raise the goodwill of the firm ?

23. w]ì oPs|U IÐLRsÍV ?

What is residual value ?

24. C¢ð]ã|PŸV KLlV SWLðV B¢cV oLSjR^Ü£V A¨TºVyV, sºR£
An]NkLpojOyq]ÞÿV mcV̂ ãV j]¡vÞ]¨OW.

According to the Institute of Cost and Management Accounts, London, define budget.

25. oO¢WPŸ] AaÞÿ RÞsvOW¥ IÐLRsÍV ?

What is Prepaid Expense ?

26. WqOf¤ oPsijU IÐLRsÍV ?

What is Reserve Capital ?

27. W]ŸL¨aU ` 5,000. NWo}Wqe I¢Na]pOU RRWoLã I¢Na]pOU fáLrL¨OW.

Bad debts ` 5,000.  Pass adjusting entry and Transfer entry.

7x2=14
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28. SWæLy]‚V NWc]SãuVyV We¨L¨OW :

      `

KLÕe]‚V NWc]SãuVyV     19,000

NWc]SãuVy]jV RWLaO¾ keU     40,000

BRW vL°sOW¥           1,01,200

keU RWLaO¾Oç vL°sOW¥     50,000

Calculate Closing Creditors :

      `

Opening Creditors     19,000

Cash paid to Creditors     40,000

Total Purchases  1,01,200

Cash Purchases     50,000

29. ò]q y~¾]R£ BRW sLn j]q V̈ We¨L¨OW.

      `

ò]q y~¾V  1,00,000

SfpVoLjU    25,000

v]s×jW¥  3,00,000

Calculate Fixed Assets Turnover Ratio.

       `

Fixed Assets  1,00,000

Depreciation     25,000

Sales  3,00,000

30. v]SvWV s]. R£ Þ]sær DkWqe°tORa KLÕe]‚V oPs|U ` 1,20,000 vOU Af]R£
SWæLy]‚V oPs|U ` 80,000 vOU BeV IË]¤,

(i) SfpVoLjU We¨L¨OÐ q}f]pORa SkRquOfOW.

(ii) SfpVoLj fOW We¨L¨OW.

Opening Value of Loose Tools of Vivek Ltd. is ` 1,20,000 and Its closing value
` 80,000 then,

(i) Name the method of Valuing Depreciation

(ii) Calculate the amount of Depreciation
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v]nLYU & III /PART - III

SÞLh|U 40 j]¡mÌoLpOU D¥RÕaO¾] JRfË]sOU JuV SÞLh|°¥¨V
D¾qRouOfOW.

Answer any seven questions in which question no. 40 is compulsory.

31. Sj¡SqXL q}f]p]¤ SfpVoLj j]q V̈ We¨L¨OW.

ò]q y~¾]R£ oPs|U ` 50,000

w]ì oPs|U `   5,000

j]¡¹p]Þÿ WLsU 10 v¡xU

Calculate the rate of Depreciation under Straight Line method.

Cost of Fixed Assets ` 50,000

Residual Value `   5,000

Estimated life 10 years

32. SfpVoLj¾]R£ Bn|Íq WLqe°¥ IRÍsæLU ?

What are the Internal causes of Depreciation ?

33. 31.3.2014 ¤ AvyLj]¨OÐ WLs¾]R£ Nap¤ mLs¢yV WLe]¨OÐfV
C¢xOryV Nk}o]pU ` 40,000 IÐLeV.

NWo}WqeU: oO¢WPrLp] AaÞÿ C¢xOryV Nk}o]pU ` 5,000

RRlj¤ A¨Tº]¤ CT vñOf I°Rj vqORoÐV WLe]¨OW.

Trial Balance for the period ending 31.3.2014 shows ` 40,000 as Insurance Premium.

Adjustment : Prepaid Insurance Premium ` 5,000.

Show how this item will appear in the final accounts ?

7x3=21



11 1359 (NP)

[ orOkOrU / Turn over

34. fÐ]q]¨OÐ v]vq°t]¤ j]ÐOU KqO òLkj¾]R£ sLnU We¨L¨OW.

          `

SWæLy]‚V oPsijU 6,000

Ai]W oPsijU 2,000

k]¢vs]Þÿ fOW          1,200

KLÕe]‚V oPsijU 2,700

From the following information calculate profit of a Firm.

  `

Closing Capital 6,000

Additional Capital 2,000

Drawings 1,200

Opening Capital 2,700

35. qo 1.5.2014 ¤ ` 2,000 vOU 31.10.2014 ¤ ` 3,000 vOU 30.11.2014 ¤ ` 5,000 vOU
k]¢vs]¨OÐO. 2015 oL¡ÞÿV 31jV AvyLj]¨OÐ v¡x¾]¤ 10% ¾]jV qopORa
k]¢vs]Þÿ fOWW¥¨Oç ks]w WLe¨L¨OW.

Rema draws ` 2,000 on 1.5.2014, ` 3,000 on 31.10.2014, ` 5,000 on 30.11.2014.
Calculate Rema’s Interest on drawings at 10% for the year ending 31st March 2015.

36. ASkƒpV¨V ` 2  IÐ j]q¨]¤ ` 10 v]spOç 1,00,000 KLzq]W¥ 1.4.2006 ¤
v]SjLhV WÒj] s]. kOrRÕaOv]ÞÿO. 1,20,000 KLzq]W¥¨Oç ASkƒW¥ WÒj]
y~}Wq]ÞÿO. Ai]W ASkƒW¥ f]qØq]Þÿ]ŸV keU f]q]RW RWLaO¾O. Bvw|oLp
S^e¤ I¢Na]W¥ fáLrL¨OW.

Vinod Company Ltd.  issued shares on 1.4.2006 1,00,000 Shares at ` 10 each payable
on application ` 2.  The company received application for 1,20,000 shares.  The excess
applications were rejected and money refunded.  Pass necessary journal entries.
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37. qLU WÒj] s]. R£ mLi|fW¥ fÐ]q]¨OÐO.

    `

WaÕNf°¥ 2,00,000

mLËV kepU 1,00,000

CW~]ã] KLzq] oPsijU 1,25,000

WqOf¤ j]Sƒk°¥    25,000

“RcmVãV CW~]ã] SrSx|L”p]sPRa WÒj] V̈ Af]R£ j]sj]s×]jV h}¡Z WLs Wa°Rt
Bèp]¨LvOÐ WLsLvi] yPÞ]Õ]¨OW.

Ram Company Ltd. has the following Liabilities.

    `

Debentures 2,00,000

Bank Loan 1,00,000

Equity Share Capital 1,25,000

Reserves    25,000

Indicate the extent to which the company depends upon long term debts for its existence
through “Debt - Equity Ratio”.

38. 2016 oL¡ÞÿV oLyR¾ W|LxV mcV̂ ãV fáLrL¨OW.

(1) jvUmr]Rs KLÕe]‚V W|LxV mLs¢yV ` 7,000

(2) ke v]s×jW¥ ` 40,000

(3) jvUm¡ oLy¾]¤ y~}Wq]Þÿ v]z]fU ` 5,000

(4) ke vL°sOW¥ ` 32,000

Prepare Cash Budget for the month of November 2016.

(1) Opening Cash Balance in November ` 7,000

(2) Cash Sales ` 40,000

(3) Dividend Receivable in the month of November ` 5,000

(4) Cash Purchases ` 32,000
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39. Aos], Wos] IÐ} kËLt]W¥ sLnjì°¥ 4 : 3 IÐ AjOkLf¾]¤ v}f]¨OÐO.
AvqORa òLkj¾]Ss V̈ WOoOf]j]Rp SÞ¡¾SwxU AvqORa kOf]p sLn v}f
j]q V̈ 7 : 4 : 3 BeV. f|LY j]q V̈ We¨L¨OW.

Amali and Kamali are partners sharing profit and loss in the ratio of 4 : 3.  After they
admit Kumuthini into the firm their new profit sharing ratio is 7 : 4 : 3.  Calculate
Sacrificing Ratio.

40. nLv]p]¤ òLkjU Nkf}ƒ]¨OÐ wqLwq] RoL¾(RjãV) sLnU `  27,000.
WÞÿva¾]¤ D¥RÕaO¾]p]q]¨OÐ wqLwq] oPsijU ` 1,50,000. WÞÿva¾]¤
j]Sƒk]Þÿ]q]¨OÐ  oPsij¾]¤ j]ÐOU Nkf}ƒ]¨OÐ ks]w j]q¨V 10%.

kËLt]pORa vL¡x]W SvfjU ` 4,000.

òLkjU vL°sOWtORa DÐfsLn¾]R£ Aa]òLj¾]¤ qºV v¡xR¾ YOcVv]¤
oPs|U ` 20,000 IÐV We¨L¨].

(i) YOcVv]sæ]jV We¨L¨]p oPs|U wq]pLSeL ?

(ii) wq]pRsæË]¤ YOcVv]¤ oPs|U We¨L¨OW.

The average net profits of the firm expected in the future is ` 27,000.  The average
capital employed in the business is ` 1,50,000.  The rate of interest expected from the
capital invested in the business is 10%.  The remuneration of the partner is
` 4,000 p.a.

The firm calculated the value of goodwill on the basis of two years purchase of super
profits is ` 20,000.

(i) Is the calculated value of goodwill correct ?

(ii) If not, calculate the value of goodwill.
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v]nLYU & IV/PART - IV

IsæL SÞLh|°¥¨OU D¾qRouOfOW. 7x5=35
Answer all the questions.

41. (a) fÐ]q]¨OÐ v]vq°t]¤ j]ÐOU ÞLµLaOÐ oPsij q}f]p]¤ qLoOv]R£pOU
SyLoOv]R£pOU oPsij A¨TºOW¥ fáLrL¨OW.
v]vq°¥ qLoO SyLoO

   `     `

oPsijU 1.4.2006 ¤ 80,000 50,000

k]¢vs]Þÿ fOW   6,000   4,000

oPsij¾]jOç ks]w   4,800   3,000

k]¢vs]Þÿ fOWàOç ks]w      150      100

sLnv]z]fU   8,000   6,000

kËLt]WtORa wÒtU        -   2,000

WÚ}x¢   1,600   1,200

ARsæË]¤
(b) è}. qZOv]R£ fÐ]q]¨OÐ  Nap¤ mLs¢y]¤ j]ÐOU 31 oL¡ÞÿV 2012 ¤

AvyLj]¨OÐ v¡x¾]R£ RRlj¤ A¨TºV fáLrL¨OW.

 

pWpk°¥
M]gWãQ

`

IR]WãQ

`

iKmcdP      40,000

pWm×dR¥      25,000

pG°mJR¥    15,000

qÒnP      2,000

pG[R      1,800

eW¢pmWÞÿ `JR      5,000

jIÍP    28,000

e_P      6,500

Vk Q̈      5,200

M]gQNãoQsQ 2,500

IR]WNãoQsQ        1,000

  66,000      66,000

I[j¤ gGm¢sQ

NWo}Wqe°¥ :
(1) SWæLy]‚V SðL V̈ ` 4,900
(2) wÒt WOa]ê]W ` 300

(3) oO¢WPŸ] AaÞÿ vLaW ` 200
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(a) From the following details prepare Ramu and Somu’s Capital accounts under
Fluctuating Capital Method.

Particulars Ramu Somu

   `     `

Capital as on 1.4.2006 : 80,000 50,000

Drawings   6,000   4,000

Interest on Capital   4,800   3,000

Interest on Drawings      150      100

Share of Profits   8,000   6,000

Partner’s Salary        -   2,000

Commission   1,600   1,200

OR

(b) From the following Trial Balance of Mr. Ragu, prepare Final account for the
year ended 31st March 2012.

Particulars
Debit

`

Credit

`

Capital      40,000

Sales      25,000

Purchases    15,000

Salary      2,000

Rent      1,800

Drawings      5,000

Machinery    28,000

Cash      6,500

Stock      5,200

Debtors      2,500

Creditors         1,000

  66,000      66,000

Trial Balance

Adjustments :

(1) Closing Stock ` 4,900

(2) Outstanding Salary ` 300

(3) Prepaid Rent ` 200
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42. (a) è}. v]^pV ` 2,62,500 oPsijU RWLºV 1.4.2013 -¤ KqO WÞÿvaU fOa°OÐO.
fLRu fÐ]q]¨OÐ v]vq°t]¤ j]ÐOU WÞÿva sLnjì A¨TºOU 31 oL¡ÞÿV
2014 Rs mLs¢yV x}ãOU fáLrL¨OW.

`

BRW v]s×j 10,50,000

BRW vL°sOW¥   9,27,500

Svfj°¥      15,750

Cfq RÞsvOW¥      35,000

kqy|U      17,500

l¡e]Þÿ¡      42,000

mLËV kepU      52,500

k]¢vs]Þÿ fOW      75,600

Rcm]SãuVyV (SWæLy]‚V)   2,62,500

NWc]SãuVyV (SWæLy]‚V)   1,75,000

\q V̈ (SWæLy]‚V)   1,22,500

keU (SWæLy]‚V)   1,64,150

ARsæË]¤

(b) j]sv]Rs j]q V̈=2 : 1

j]sv]Rs mLi|f ` 75,000 IË]¤

(i) j]sv]Rs y~¾O¨tORa oPs|U IÍV ?

(ii) oOWt]sOç j]sv]Rs y~¾]¤ \q V̈ ` 50,000 DU oO¢WP¡ AaÞÿ RÞsvV
` 5,000 DU D¥RÕaO¾OWpLReË]¤ s]W~]cV j]q V̈ We¨L¨OW?

(iii) v|©oLp s]W~]cV y~¾V ` 50,000

s]W~]cV mLi|f ` 25,000

v|©oLp s]W~]cV j]q V̈ We¨L¨OW.
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(a) Mr. Vijay started business on 1.4.2013 with the capital of ` 2,62,500.  From the
details given below prepare Trading and Profit and Loss account and Balance
Sheet as on 31st March 2014.

`

Total Sales 10,50,000

Total Purchases   9,27,500

Wages      15,750

Miscellaneous Expenses      35,000

Advertisement      17,500

Furniture      42,000

Bank Loan      52,500

Drawings      75,600

Debtors (Closing)   2,62,500

Creditors (Closing)   1,75,000

Stock (Closing)   1,22,500

Cash (Closing)   1,64,150

OR

(b) Current Ratio=2 : 1

Current liability ` 75,000.  Then

(i) What is the amount of Current Assets ?

(ii) If the above Current Assets includes Stock of ` 50,000 and Pre-paid expenses
of ` 5,000 calculate Liquid Ratio ?

(iii) Absolute Liquid Assets ` 50,000

Liquid liability ` 25,000

Calculate Absolute Liquid Ratio.
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43. (a) SrLm¡ŸV B£V W. KqO pNÍU 1.4.2012 ¤ ` 75,000 jV vL°]. AfV oPÐV v¡xU
DkSpLY]Þÿ]ŸV ` 35,000 jV v]ãO. Sj¡SqXL q}f]p]¤ 10% IÐLeV SfpVoLjU
j¤WOWpOU A¨TºOW¥ IsæL v¡xvOU oL¡ÞÿV 31jV AvyLj]Õ]¨OWpOU
RÞáOÐOºV.

oPÐV v¡xS¾¨Oç SfpVoLj A¨TºOU pNÍ A¨TºOU fáLrL¨OW.

ARsæË]¤

(b) os¡, W]qOm, m}YU IÐ} kËLt]W¥ sLn v]z]fU 5 : 3 : 2 IÐV v}f]¨OWpOU
os¡ k]q]îOSkLWL¢ f}qOoLj]¨OWpOU RÞpÅO. òLkj¾]R£ YOcVv]¤
` 40,000 IÐV v]sp]ŸO.

fÐ]q]¨OÐvàV S^e¤ I¢Na] j¤WOW.

(i) òLkj¾]R£ mO¨]¤ YOcV v]¤ Csæ.

(ii) YOcVv]¤ ` 30,000 IÐV WLeRÕaOÐO.

(iii) YOcVv]¤ ` 50,000 IÐV WLeRÕaOÐO.

(a) Robert and Co. purchased a Machinery for ` 75,000 on 1.4.2012.  After having
used it for three years it was sold for ` 35,000.  Depreciation is to be provided at
10% on Straight Line method.  Accounts are closed on 31st March every year.

Prepare Machinery Account and Depreciation Account for three years.

OR

(b) Malar, Kiruba and Begam are partners sharing profits in the ratio of 5 : 3 : 2
Malar decided to retire.  Goodwill of the firm is to be valued at ` 40,000.

Give journal entries for the following :

(i) There is no goodwill in the books of the firm

(ii) The goodwill appears at ` 30,000

(iii) The goodwill appears at ` 50,000
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44. (a) fÐ]q]¨OÐvp]¤ j]ÐOU Aô¤(RjãV) sLn j]q V̈, Nkv¡¾j sLn j]q V̈
Nkv¡¾j j]q V̈ IÐ]v We¨L¨OW.

     `

v]s×jW¥ 1,00,000

BRW(SNYLôV) sLnU    30,000

v]z]fU sn]\ÿfV         400

Aô¤(RjãV) sLnU    26,600

nqeRÞÿsvV      1,000

v]s×jRÞÿsvV      2,000

j]Sƒk v]s×jp]Rs jìU        800

ARsæË]¤

(b) ` 10 v]spOç 100 CW~]ã] KLzq]WtORa Bh|v]t] ` 3 pOU AÍ|v]t] ` 3 pOU
Aa¨L¾f]jL¤  WÒj]p]Rs cprWVa¡oL¡ B KLzq]W¥ k]¢vs]\ÿO.
k]Ð}aV  Af]Rs 40 KLzq]W¥ v}ºOU ̀  300 pV̈ V v]fqeU R\pVfO. k]¢vs]\ÿ
KLzq]WtORapOU v}ºOU kOrRÕaOv]Þÿ KLzq]WtORapOU RRWoLã°¥
S^¡es]sL¨OW.

(a) From the following, calculate Net Profit Ratio, Operating Profit Ratio and
Operating Ratio.

     `

Sales 1,00,000

Gross Profit    30,000

Dividend Received         400

Net Profit    26,600

Administrative Expenses      1,000

Selling Expenses      2,000

Loss on Sale of Investment        800

OR

(b) The Directors of a company forfeited 100 equity shares of ` 10 each on which the
first call of ` 3 and final call of ` 3 had not been paid.  Of these, 40 shares were
reissued upon payment of ` 300.

Journalise the transaction of forfeiture and reissue of shares.



201359 (NP)

45. (a) è}of] vj]f AvtORa mO¨V y]UY]¥ I¢Na] Aa]òLj¾]sLeV
yPƒ]¨OÐfV. 31 oL¡ÞÿV 2014 WLs¾V DºLp sLnSoL jìSoL WRº¾OW.

1.4.2013 ¤ oPsijU ` 23,200 Bp]qOÐO.

31.3.2014 ¤ AvtORa Avò fLRu RWLaO¾]q]¨OÐO.

`

mLËV mLs¢yV 4,500(Dr.)

keU    300

SwXqU 4,000

RcmVSãuVyV 7,600

l¡e]Þÿ¡         30,000

NWc]SãuVyV        18,000

è}of] vj]f y~WLq| Bvw|°¥¨Lp] `  10,000 k]¢vs]¨OWpOU
Ai]WoPsijoLp] ` 4,000 SÞ¡¨OWpOU RÞpÅO. l¡e]Þÿ¡ SfpVoLjU 10%.

ARsæË]¤

(b) Þ]Nf, SoYs IÐ} kËLt]W¥ sLnjìU v}f]¨OÐfV 3 : 2 IÐ
AjOkLf¾]sLeV. Av¡ qLiRp AvqORa òLkj¾]¤ SÞ¡¨LjOU fLRu
RWLaO¾]q]¨OÐf]jjOyq]ÞÿV AvqORa y~¾O¨tOU mLi|fWtOU kOj¡oPs|
j]¡¹pU RÞáLjOU f}qOoLj]ÞÿO.

(i) òLkj¾]R£ mO¨]¤ CfOvRqpOU SqXRÕaO¾]p]Ÿ]sæL¾ ` 12,000
pORa j]SƒkU SqXp]¤ RWLºOvq]W.

(ii) \q¨V, l¡e]Þÿ¡, pNÍU IÐ]vpORa SfpVoLjU pgLNWoU ` 3,000,
`1,000, ` 5,000 IÐ]°Rj B¨OW.

(iii) WOa]ê]W mLi|fW¥ V̈ ` 4,000 v|vò(RNkLv]x¢) DºL¨]p]ŸOºV.
kOj¡oPs|j]¡¹p A¨TºV fáLrL¨OW.
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(a) Mrs. Vanitha keeps her books on Single entry basis.  Find out the profit or loss
made for the period 31st March 2014.

On 1.4.2013 her Capital was ` 23,200.

On 31.3.2014 her position was as under.

     `

Bank Balance   4,500 (Dr)

Cash      300

Stock   4,000

Debtors   7,600

Furniture 30,000

Creditors 18,000

Mrs. Vanitha had withdrawn ` 10,000 for personal use and had introduced
additional capital ` 4,000.  Depreciated furniture at 10%.

OR

(b) Chithra, Megala are partners sharing profit and loss in the ratio of 3 : 2.  They
decided to admit Radha into the firm and revalue their assets and liabilities as
under.

(i) To bring into record investment of ` 12,000 which had not so far been
recorded in the books of the firm.

(ii) To depreciate stock, furniture and machinery by ` 3,000, ` 1,000 and
` 5,000 respectively.

(iii) A provision for outstanding liabilities was to be created for ` 4,000.
Prepare Revaluation Account.
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46. (a) fÐ]q]¨OÐ v]vq°t]¤ j]ÐOU KSW›Lm¡, jvUm¡ oLyR¾ W|LxV
mcV̂ ãV fáLrL¨OW.

(i) KSW›Lmr]Rs KLÕe]‚V ke mL¨] ` 3,000

(ii) ke v]s×j KSW›Lm¡ ` 12,000 jvUm¡ ` 14,000

(iii) WaoLp] vL°]pfV RykVãUm¡ ` 10,000, KSW›Lm¡ ` 12,000; jvUm¡
` 14,000

(iv) jvUmr]¤ y~}Wq]S¨º v]z]fU ` 4,000

(v) KSW›Lmr]¤ AapVS¨º oO¢WP¡ j]WOf] ` 3,000

(vi) jvUmr]¤ ` 12,000 jV kup y~¾V v]s×j

ARsæË]¤

(b) 1.4.2014 ¤ oOqOW¢, YOz¢, Aos¢ IÐ]vqORa oPsijU pgLNWoU ` 80,000;
` 60,000, ` 40,000 IÐ]°RjpLeV. 30.9.2014 ¤ YOz¢ ApLtORa
oPsij¾]¤ j]ÐOU ` 8,000 k]¢vs]ÞÿO. 31.12.2014 ¤ Aos¢ Ai]W
oPsijoLp] ` 12,000 WPa] SÞ¡¾O. 31 oL¡ÞÿV 2015 jV AvyLj]¨OÐ
v¡xR¾ 6% vL¡x]W j]q¨]¤ oPsij¾]jOç ks]w We¨L¨OW.

(a) From the following information, prepare a cash budget for the month of October,
November.

(i) Opening cash balance in October ` 3,000

(ii) Cash sales October ` 12,000; November ` 14,000

(iii) Credit purchases September ` 10,000, October ` 12,000;  November ` 14,000

(iv) Dividend to be received in November ` 4,000

(v) Advance Tax ` 3,000 payable in October

(vi) Sale of an Old Asset for ` 12,000 during November

OR

(b) Murugan, Guhan, Amalan had Capital of ` 80,000; ` 60,000; ` 40,000 respectively
on 1.4.2014.  Guhan withdrew ` 8,000 from his capital on 30.9.2014.  Amalan
introduced additional Capital of ` 12,000 on 31.12.2014.  Calculate interest on
Capital at 6% p.a. for the year ending 31st March 2015.
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47. (a) fÐ]q]¨OÐ v]vq°t]¤ j]ÐOU 31.3.2014 AjOyq]ÞÿOç AmÉO¥ s]. R£
yUƒ]kÅ mLs¢yV x}ãV fáLrL¨OW.

AUY}WQf KLzq] oPsijU ` 5,00,000.

10% W]u]v]¤ ` 10 v]spOç 10,000 KLzq]W¥ kOrRÕaOv]\ÿO

^j°¥ 9,000 KLzq]W¥ vL°OWpOU oOuOv¢ keU Aa¨OWpOU R\pVfO

mLËV mLs¢yV ` 80,000

KLzq]W¥ kOrRÕaOv]\ÿSÕL¥ j¤W]p c]yV̈ TºV ` 10,000

ARsæË]¤

(b) 31.3.2015 Rs Nap¤ mLs¢yV WLe]¨OÐfV fÐ]q]¨OÐfOSkLRspLeV.

v]vq°¥ Rcm]ãV NWc]ãV

   `   `

Rcm]SãuVyV 50,000    -

Rcm]SãuVy]jOç W]u]vV   1,000    -

W]ŸL¨a°¥   3,000    -

W]ŸL¨a°¥¨OU f}qL¨Oã]W¥¨OoOç

v|vò       - 5,000

Rcm]SãuVy]R£ W]u]v]jOç v|vò      - 2,000

NWo}Wqe°¥ :

(i) ` 1,000 jOç W]ŸL¨a°¥ IuOf]¾ç].

(ii) W]ŸL¨a°¥¨OU f}qL¨Oã]W¥¨OoOç v|vòàV 5%

y²}WqeoOºL¨]

(iii) Rcm]SãuVy]R£ W]u]v]jOç v|vòàV 2% y²}WqeoOºL¨]

sLnjì A¨Tº]¤ CfV I°Rj WLeRÕaORoÐV WLe]¨OW.
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(a) From the following information prepare Extracted Balance sheet of Abdul Ltd.
as on 31.3.2014

Authorised share capital ` 5,00,000

Issued shares of 10,000 at ` 10 each at discount of 10%

Public subscribed 9,000 shares and fully paid

Bank Balance ` 80,000

Discount on issue of shares account showed Balance of ` 10,000

OR

(b) Trial Balance as on 31.3.2015 shows the following.

Particulars Debit Credit

   `     `

Debtors 50,000     -

Discount on Debtors   1,000     -

Bad debts   3,000     -

Provision for Bad and      - 5,000
doubtful debts

Provision for discount on      - 2,000
debtors

Adjustments :

(i) Bad debts to be written off ` 1,000.

(ii) Provide 5% Provision for Bad and doubtful debts

(iii) Provide 2% Provision for discount on debtors.

Show how this item will appear in Profit and Loss account.

- o O o -


